$(te^x)^6$

->> 4e^{2x} = 2e^x

 $\Rightarrow \frac{2x-x}{e} = \frac{2}{4}$

 $\lim_{x\to\infty} (1+e^{x})^{2} = \lim_{x\to\infty} \frac{1}{1+e^{x}} = \lim_{x\to\infty} \frac{e^{x}(e^{-x})}{e^{x}(e^{-x}+1)}$

 $\lim_{x \to -\infty} \left(\frac{1}{1+e^x} \right)^2 = \lim_{x \to -\infty} \frac{1}{1+e^x} = \frac{1}{1+0} = 1$

In(x) 0

So y = 0 and y = 1 are horizontal asymptotes.

 $= \ln(\frac{2}{4}) = \ln(\frac{1}{4})$

In (3/4)

 $=\lim_{x\to\infty}\frac{\hat{e}^x}{\hat{a}^x+1}=\frac{0}{0+1}=0$

 $y''(x) = 0 \implies 4e^{2x} - 2e^{x} = 0$

Also,